Date: 8/8/2024 Time: 12:24:01 PM Page 1/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

	10 of 10	Precincts	Reporting	100.00%
--	----------	------------------	-----------	---------

Party Distribution		
Number of Precincts	10	100 000/
Precincts Reporting	10	100.00%
Total Ballots	3,232	
NON-PARTISAN	25	0.77%
REPUBLICAN PARTY	2,753	85.18%
DEMOCRATIC PARTY	449	13.89%
LIBERTARIAN PARTY	5	0.15%

US SENATOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,269	
JOSH HAWLEY	2,269	100.00%

GOVERNOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1	0.670	
Total Votes	2,673	
DARRELL LEON McCLANAHAN	34	1.27%
111		
JEREMY GUNDEL	18	0.67%
BILL EIGEL	739	27.65%
ROBERT JAMES OLSON	15	0.56%
JOHN R. (JAY) ASHCROFT	573	21.44%
MIKE KEHOE	1,193	44.63%
CHRIS WRIGHT	48	1.80%
DARREN L GRANT	14	0.52%
AMBER THOMSEN	39	1.46%

LIEUTENANT GOVERNOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,504	
HOLLY REHDER	503	20.09%
DAVE WASINGER	505	20.17%
LINCOLN HOUGH	1,089	43.49%
PAUL BERRY III	37	1.48%
TIM BAKER	245	9.78%
MATTHEW E. PORTER	125	4.99%
\		

SECRETARY OF STATE (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1 Total Votes	2,385	
VALENTINA GOMEZ	160	6.71%
SHANE SCHOELLER	247	10.36%
DENNY HOSKINS	656	27.51%
ADAM J. SCHWADRON	99	4.15%
JAMIE CORLEY	316	13.25%
DEAN PLOCHER	400	16.77%
MARY ELIZABETH COLEMAN	209	8.76%
MIKE CARTER	298	12.49%

10	
10	100.00%
2,464	
383	15.54%
403	16.36%
494	20.05%
1,081	43.87%
89	3.61%
14	0.57%
	2,464 383 403 494 1,081 89

Date: 8/8/2024 Time: 12:24:01 PM Page 2/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

ATTORNEY GENERAL (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,484	
WILL SCHARF	859	34.58%
ANDREW BAILEY	1,625	65.42%

STATE REPRESENTATIVE DIST (REPUBLICAN PARTY)	TRICT 125	
Number of Precincts	9	
Precincts Reporting	9	100.00%
Vote For 1		
Total Votes	1,507	
DANE DIEHL	1,507	100.00%

US REPRESENTATIVE DISTRICT 4 (REPUBLICAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	2,481	
MARK ALFORD	2,481	100.00%

CIRCUIT JUDGE CIRCUIT 27 (REPUBLICAN PARTY)		·
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,096	
M. BRANDON BAKER	2,096	100.00%

STATE SENATOR DISTRICT 31 (REPUBLICAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	2,574	
RICK BRATTIN MICHAEL HAFFNER DAN HOUX	1,237 692 645	48.06% 26.88% 25.06%

NORTHERN COMMISSIONER (REPUBLICAN PARTY)		
Number of Precincts	7	
Precincts Reporting	7	100.00%
Vote For 1		
Total Votes	1,336	
JOHN GRAY	1,002	75.00%
KEN MOONEY	334	25.00%

STATE REPRESENTATIVE DIST (REPUBLICAN PARTY)	RICT 62	
Number of Precincts	9	
Precincts Reporting	9	100.00%
Vote For 1		
Total Votes	932	
SHERRI GALLICK	932	100.00%

SOUTHERN COMMISSIONER (REPUBLICAN PARTY)		
Number of Precincts	8	
Precincts Reporting	8	100.00%
Vote For 1		
Total Votes	1,299	
TRENT NELSON	596	45.88%
KENT FLETCHER	279	21.48%
DOUG LAWRENCE	424	32.64%

Date: 8/8/2024 Time: 12:24:01 PM Page 3/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

SHERIFF (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,346	
CHAD ANDERSON	2,346	100.00%

ASSESSOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,274	
CARL BETTELS	2,274	100.00%

(REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,318	
JERRET JAY RENO	2,318	100.00%

PUBLIC ADMINISTRATOR (REPUBLICAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	1,969	
BRENDA G. DOODY	1,969	100.00%

4	
4	100.00%
173	
38	21.97%
135	78.03%
	173

MOUND TWP COMMITTEEWOMAN (REPUBLICAN PARTY)		
Number of Precincts	4	
Precincts Reporting	4	100.00%
Vote For 1		
Total Votes	167	
DONNA CATRON	56	33.53%
COURTNEY ANDERSON	111	66.47%

MT. PLEASANT TWP COMMITTEEMAN (REPUBLICAN PARTY)		
Number of Precincts	3	
Precincts Reporting	3	100.00%
Vote For 1		
Total Votes	579	
GARY RATLIFF	202	34.89%
JESSE MURRAY	377	65.11%

MT. PLEASANT COMMITTEEWOMAN (REPUBLICAN PARTY)		
Number of Precincts	3	
Precincts Reporting	3	100.00%
Vote For 1		
Total Votes	581	
JAMI PAGE	446	76.76%
LYNNE OLSON-SALOMON	135	23.24%

Date: 8/8/2024 Time: 12:24:01 PM Page 4/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

WALNUT TWP COMMITTEEMAN (REPUBLICAN PARTY)		
Number of Precincts	4	
Precincts Reporting	4	100.00%
Vote For 1		
Total Votes	50	
BLAINE BALDWIN	26	52.00%
DON TRELEASE	24	48.00%

ELKHART TWP COMMITTEEWOMAN (REPUBLICAN PARTY)		
Number of Precincts	5	
Precincts Reporting	5	100.00%
Vote For 1		
Total Votes	57	
SUSAN HOCKETT	36	63.16%
ELIZABETH A. CHANCELLOR	21	36.84%

100.00%
48.98%
51.02%

	EAST BOONE TWPCOMMITTEEMAN (REPUBLICAN PARTY)		
	Number of Precincts	3	
	Precincts Reporting	3	100.00%
١,	Vote For 1		
	Total Votes	89	
	JUSTIN G. CORBIN	78	87.64%
	JONATHAN BARRETT	11	12.36%

WEST POINT TWP COMMITTEEWOM (REPUBLICAN PARTY)	AN	
Number of Precincts	3	
Precincts Reporting	3	100.00%
Vote For 1		
Total Votes	76	
VICKY VAIL	31	40.79%
TERESA BROOKS	45	59.21%

PLEASANT GAP TWP COMMITTEEMAN (REPUBLICAN PARTY)	I	
Number of Precincts Precincts Reporting	5 5	100.00%
Vote For 1 Total Votes	69	
JASON ROSIER AUGUST DEAN FISCHER	39 30	56.52% 43.48%

ELKHART TWP COMMITTEEMAN (REPUBLICAN PARTY)		
Number of Precincts	5	
Precincts Reporting	5	100.00%
Vote For 1		
Total Votes	57	
TYLER COVINGTON	15	26.32%
HARLAN HOCKETT	42	73.68%

OSAGE TWP COMMITTEEMAN (REPUBLICAN PARTY)		
Number of Precincts	3	
Precincts Reporting	3	100.00%
Vote For 1		
Total Votes	180	
TIMOTHY C. THORP	59	32.78%
TRENT NELSON	121	67.22%

Date: 8/8/2024 Time: 12:24:01 PM Page 5/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

DEER CREEK TWP COMMITTEEW (REPUBLICAN PARTY)	/OMAN	
Number of Precincts	3	
Precincts Reporting	3	100.00%
Vote For 1		
Total Votes	319	
JENNIFER RENEE RUSOW	186	58.31%
MURPHY		
1		
MEGHAN ROBBINS	133	41.69%

10	
10	100.00%
401	
134	33.42%
140	34.91%
127	31.67%
	10 401 134 140

	US SENATOR (DEMOCRATIC PARTY)		
l	Number of Precincts	10	
l	Precincts Reporting	10	100.00%
l	Vote For 1		
l	Total Votes	423	
ſ	KARLA MAY	110	26.00%
l	DECEMBER L. HARMON	35	8.27%
l	LUCAS KUNCE	269	63.59%
l	MITA BISWAS	9	2.13%
	Precincts Reporting Vote For 1 Total Votes KARLA MAY DECEMBER L. HARMON LUCAS KUNCE	10 423 110 35 269	26.00° 8.27° 63.59°

STATE TREASURER (DEMOCRATIC PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	381	
MARK OSMACK	381	100.00%

GOVERNOR (DEMOCRATIC PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	431	
ERIC MORRISON	51	11.83%
CRYSTAL QUADE	167	38.75%
SHERYL GLADNEY	18	4.18%
HOLLIS L LASTER	13	3.02%
MIKE HAMRA	182	42.23%

ATTORNEY GENERAL (DEMOCRATIC PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	377	
ELAD JONATHAN GROSS	377	100.00%

LIEUTENANT GOVERNOR (DEMOCRATIC PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	404	
RICHARD BROWN	238	58.91%
ANASTASIA SYES	166	41.09%

US REPRESENTATIVE DISTRICT 4 (DEMOCRATIC PARTY)		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	416	
JEANETTE CASS MIKE McCAFFREE	193 223	46.39% 53.61%

Date: 8/8/2024 Time: 12:24:01 PM Page 6/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

STATE SENATOR DISTRICT 31 (DEMOCRATIC PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	381	
RAYMOND L. JAMES	381	100.00%

GOVERNOR (LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5	
BILL SLANTZ	5	100.00%

STATE REPRESENTATIVE DISTRICT (DEMOCRATIC PARTY)	Γ 125	
Number of Precincts	9	
Precincts Reporting	9	100.00%
Vote For 1		
Total Votes	223	
LYNDA JONES	223	100.00%

LIEUTENANT GOVERNOR (LIBERTARIAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	5	
KEN IVERSON	5	100.00%

	COLLECTOR/TREASURER (DEMOCRATIC PARTY)		
	Number of Precincts	10	
l	Precincts Reporting	10	100.00%
l	Vote For 1		
l	Total Votes	412	
	KACIE ROBEY	412	100.00%

SECRETARY OF STATE (LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5	
CARL HERMAN FREESE	5	100.00%

SURVEYOR (DEMOCRATIC PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	404	
WILLIAM C. LETHCHO	404	100.00%

STATE TREASURER (LIBERTARIAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	5	400.000/
JOHN A. HARTWIG, JR.	5	100.00%

US SENATOR		
(LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5	
W.C. YOUNG	5	100.00%

ATTORNEY GENERAL (LIBERTARIAN PARTY)		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	5	
RYAN L. MUNRO	5	100.00%

Date: 8/8/2024 Time: 12:24:01 PM Page 7/7

Registered Voters 11,819 - Total Ballots 3,232 : 27.35%

US REPRESENTATIVE DISTRICT 4 (LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	5	
THOMAS HOLBROOK	5	100.00%

HOMER TOWNSHIP		
Number of Precincts Precincts Reporting	3	100.00%
Total Votes	61	
YES NO	31 30	50.82% 49.18%

CONSTITUTIONAL AMENDMEN	T NO. 1	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,052	
YES	1,471	48.20%
NO	1,581	51.80%

CONSTITUTIONAL AMENDMI	ENT NO. 4	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	3,037	
YES NO	1,874 1,163	61.71% 38.29%

DEEPWATER TWP QUESTION		
Number of Precincts Precincts Reporting	4 4	100.00%
Total Votes	70	
YES NO	29 41	41.43% 58.57%